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The First Transcontinental Railroad 1869
Lesson Objective:

To understand why the government decided to build a railroad (railway) linking the East 
and West coasts of America

To assess what the consequences of this railroad would be.

Target 4-5: I can describe reasons why railways were constructed across the Great Plains to 
the West

Target 6: I can explain reasons why railways were constructed and why the railways were 
important in opening up the West

Target 7+: I can explain reasons why railways were constructed and why the railways were 
important in opening up the West and assess the positive and negative affects of the 
railroads on America



Background Information:
The Government had wanted to build a East to West railway for some time but the southern states had always blocked it as 
they thought it would benefit the north more than the south. When the Southern states left the USA and the Civil War 
began the government seized its chance and passed the 1862 Pacific Railroad Act. 
By 1862 the East of America had a network of railways but nothing further West than the Missouri river. The government 
surveyed and chose a route to extend a railroad to the West coast.
Two companies were given the contract  to build the railways – the Union Pacific  and the Central Pacific  - they would meet 
in the middle. 

In order to make this happen the government decided to:
• Extinguish any rights Plains Indians might have had to land along the route (totally going back on old promises and 

treaties)
• Loaned the two companies $16,000 for every mile of track they laid
• Granted each rail company land along the railroad they could sell.
• In total 45 million acres of free land given to the companies and  the government loaned them over $61 million

Problems for the Union Pacific Company
They faced attacks from the Sioux, Cheyenne and Arapaho Indians. 5,000 soldiers were needed to protect the workers who 
in turn needed feeding . Buffalo hunters were employed to provide fresh meat. One, William Cody (Buffalo Bill) claimed to 
have killed 4,280 buffalo. The Plains Indians were not blind to this new threat to their existence.
Problems for the Central Pacific Company
They faced huge problems in having to tunnel through the mountain ranges in the West. Estimate say 12,000 men died 
during the construction. Many of these were labourers from China.



Background Information cont..:
Each company had a Bureau of Immigration to persuade people from other countries to settle on the Plains. One agent 
persuaded 60,000 Germans to emigrate to Kansas. 10,000 people from Sweden and Norway settled in Nebraska.

By 1880 the railroad companies had sold and settled people on 200 million acres in the West. They were more successful in 
this than the Homestead Act as they had better marketing, more land to sell and people wanted land next to the railways.

Questions:
1) Name the two railroad companies given the contract to build the railroad and summarise 
the challenges they both faced.
2) What did the government commit to doing in order to ensure this railway got built?
3) How was the decision to build the railways likely to worsen relations with the Plains 
Indians?
4) Why were the railways more significant than even the Homestead Act in getting land 
settled on in the West?

5) Stick in your copy of the map and add any annotations you wish to.





The Opening of the Transcontinental railway 1869



Task: You now need to complete the tasks in your Pros and Cons of the 
Railway Booklet which leads to an exam question.

Exam Question:

Explain the importance of two of 
the following….; (16 marks)

 The Homestead Act of 1862
 The end of the American Civil 

War
 The Completion of the First 

Transcontinental Railroad 1869

..on the settlement of the Western 
Plains between 1860 and 1880



Explain the importance of two of the following…:
• The Homestead Act 1862
• The American Civil War
• The Opening of the Transcontinental Railway in 1869

..to the settlement on the Western Plains in the 1860s and 1870s    (2x 8 marks)

The Homestead Act of 1862 played a large part in explaining why people settled on the Plains as the government gave incentives and 
encouragement  for people to do so. The Act enabled almost anyone (except confederate soldiers and Indians) to apply for 160 acres of 
land for a single payment of ten dollars. This was a very cheap price and many people including former black slaves freed at the end of the 
Civil War took advantage of this. It was really important in getting certain areas of the Plains populated. For example, in Nebraska the 
Homestead Act encouraged immigrants from Europe to come to America and settle there. By 1875, over half of Nebraska’s population
were recent immigrants and their children. It was important in Nebraska’s population growth and becoming a state in 1867. Eventually 80 
million acres of land across the Plains was settled on as a direct consequence of the Homestead Act.

A significant factor in the settlement on the Western Plains was the opening of the Transcontinental Railway in 1869. After a construction 
that took two companies seven years to build, the East and West coasts of America were connected for the first time. This new transport 
opportunity enabled people to move much more quickly and easily and resulted in many more Americans settling and seizing the land of 
the Plains. It also encouraged immigration from abroad. The railway companies had a Bureau of Immigration that marketed and promoted 
land in America to Europeans and encouraged them to come. Sixty thousand Germans emigrated to Kansas and ten thousand people 
arrived from Sweden and Norway and settled in Nebraska. The government had given the railway companies land on either side of the 
tracks to sell which was very important as land close to the railway would be attractive to people as it would be less isolated and easier to 
visit relatives back home. People would also be able to transport raw materials and products to sell easily. Seeds, machinery, timber and 
other materials could be brought into the Plains and would reduce some of the difficulties early homesteaders had faced, making it seem a 
more attractive prospect for future settlers.
The rail companies had forty five million acres of land they could sell so this really helped encourage the settlement of the Plains.

WAGOLL



Did the railways have a positive or negative impact on the West?
Winners or losers?

Farmers 
were… 
because…

Owners of 
industry and 
factories 
were… 
because…

The USA 
were… 
because…

Law and order was… because…

Towns close to 
railways were… 
because…

Plains’ Indians 
were… 
because…

Stagecoach 
companies 
were… 
because…

Towns not close 
to railways were… 
because…




